Math 173 - Quiz 4 Name ke:{)
February 25, 2010 Score

Show each step to receive full credit. Supply explanations when necessary.

1. (1 point) Without actually carrying out any computations, tell whether the point
(p,0,¢) = (3,7/6,2m/3) lies above or below the zy-plane. Explain.
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2. (2 points) Convert the point (z,y, 2) = (=3,4, —5) to spherical coordinates.
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3. (2 points) What is the domain of the following vector-valued function?
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4. (2 points) Find a unit vector in the direction of 7(t) = (cost)i — (sint)j + tk.
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